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QUESTION 1

You have a class named Glass that inherits from a base class named Window. The Window class includes a protected
method named break(). How should you call the Glass class implementation of the break() method? 

A. Window.break(); 

B. Glass.break(); 

C. this.break(); 

D. base.break(); 

Correct Answer: B 

 

QUESTION 2

You create an application that uses Simple Object Access Protocol (SOAP). 

Which technology provides information about the application\\'s functionality to other applications? 

A. Web Service Description Language (WSDL) 

B. Extensible Application Markup Language (XAML) 

C. Common Intermediate Language (CIL) 

D. Universal Description, Discovery, and Integration (UDDI) 

Correct Answer: A 

WSDL is often used in combination with SOAP and an XML Schema to provide Web services over the Internet. A client
program connecting to a Web service can read the WSDL file to determine what operations are available on the server.
Any special datatypes used are embedded in the WSDL file in the form of XML Schema. The client can then use SOAP
to actually call one of the operations listed in the WSDL file using for example XML over HTTP. 

 

QUESTION 3

You are creating a routine that will perform calculations by using a repetition structure. You need to ensure that the
entire loop executes at least once. Which looping structure should you use? 

A. For 

B. While 

C. Do,,While 

D. For. ,,Each 

Correct Answer: C 
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In a Do..While loop the test is at the end of the structure, so it will be executed at least once. 

 

QUESTION 4

Which type of application has the following characteristics when it is installed? 

Runs continuously in the background by default when the startup type is set to automatic 

Presents no user interface 

A. 

Windows Service 

B. 

Windows Forms 

C. 

Console-based 

D. 

Batch file 

Correct Answer: A 

A Windows service runs in the background and has no interface. 

 

QUESTION 5

You execute the following code. 
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What will the variable result be? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 
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